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H iER °Cc °Cc °C °c

1 = 167 165 1,690 1,721
2 A 167 165 1,636 1,719
3 X 168 165 1,557 1,695
4 K ko *kkok ek *okk
5 PN $okk *okk $okk sokok
6 % sokok *ofok sokok *okok
7 ol %k *kk *okk *kk
8 =] Fokok sokok sokok sokok
9 A Fokok *okk Fokok *okk
10 X Fokok *okk Fokok *okk
11 K Forok *okok sokok ok
12 N ko *kok ek *okk
13 & *okok *okok sokok ok
14 T 168 161 1,461 1,644
15 = 168 165 1,441 1,629
16 A 168 166 1,636 1,671
17 X 167 166 1,555 1,631
18 7K 169 166 1,581 1,632
19 PN 170 166 1,512 1,614
20 & 168 166 1,491 1,608
21 T 168 166 1,515 1,579
22 = 167 165 1,577 1,618
23 A 168 165 1,556 1,613
24 DN 167 165 1,563 1,615
25 7K 167 165 1,562 1,609
26 PN 168 166 1,583 1,632
27 & 168 165 1,543 1,615
28 T 168 165 1,434 1,611
29 = 168 165 1,460 1,552
30 A 169 165 1,470 1,579
A ¥y - 165 - 1,629
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